trig-2013-04-12-6p3-identitiesproofs-b.notebook April 12, 2013

Turn in homework:

6.1 Handout: #13-23 odd

6.2 Handout: #1-23 odd; 35-41 odd
6.3 Handout: #1-24; 30-36 all
(everything except 6.3 proofs)

b.% handoudt 51026 =25n6w0sO
blo. Siﬂ4‘)< = 45“\)(605)( — 8 COS)(SEOS)(
LHS = SJ"Q@Q =2 Sin2Xcos 2 X =

RLe)(1-25) (35
Ts ir\xcw 05~ |

:Ars‘“’(‘°°x‘88in3)gco&)( Gl
R H S B




trig-2013-04-12-6p3-identitiesproofs-b.notebook April 12, 2013
0% SI3X+SINX=4sinx—4sin X
LHS =35Sin (2x+x> + sinX =
= SINIXCOSX +cosIXSINY +  SjnX=
=(Q$im’a°°s"+(¢°§@»x +SinXa

= 2SiNXCOS X 4 sir\chg‘x -—5\'(\3X +SinX =
= )‘i+t\‘)(é_<,>§=5‘—sin3x+siﬂx=
:gx‘x:‘?‘"& )
Siny (7~ Sin‘x>" Sin X +S10X =
¥/ 3
=3sinx-3s5in°x —Sin" x +SINX =
= Q'Sif\x - +sj03)<

=RAHS.

K
2 secx

LRSS = (cos éj: ({:Jl_-\;?__co_?é)z =

SECY. =
2 > —
SecX + |
=( SecX / = gcxﬂ_ L - §CCX+’
2 secx 2 QseLxt

O = RHsa



trig-2013-04-12-6p3-identitiesproofs-b.notebook April 12, 2013

2 X 2 X
Ho. cos 2_—5'“ — = cos X

LHS=(cos £ _ /5in kY .
(i

= |-|-cosx \—Cosx -
‘+C°,&~ L cos>Q
°7L:‘{’35 cosx RAH SIS,
[+ (ot =¢sc?
B(. CoS2X 2 X
—— =(CSC X — cet’x =cséi
Sin X 2 A
LS = [-Zsinx - | 2sin’%
Sin‘ X S0 X Sin*x

= escx -2 =RAS

LHS = @Szx-sir?x - Cos¥ 5%
Sin®x 5|nx 5m)(

_C‘SC)(~|-' Cxx_z K‘Hs

-aptx-'\



trig-2013-04-12-6p3-identitiesproofs-b.notebook April 12, 2013

B8. 2coslx
sin2x

LHS=R(cosx-sif) = 8% __sax
RSiNXOSX Sloxesy.  SeiogK

CoSX SINnX

T SINX T Cosx CO'tX"{MX’ﬁ'{SQ

- cotx -tanx

Homework:

Continue working on 6.3 proofs
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